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Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 501314229
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 50131411394 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Asexual reproduction in Oedogonium takes place by
& BrfAaD0S’ BonE |Deosed ) Hes o el 2B od.

Options:
Gonidia
oy S b e
| & [RGAD0
Exospores
IR Oeren
2. %
Synzoospores

L Doain Hd DODaren

Autc}spores
D zede DODaren

Question Number : 2 Question Id : 50131411395 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Coenobium is a
Options :
Non maotile colony with constant number of cells arranged in a regular manner

. e D0 WO &0 (F0IPBS’ @00 &0T DTRIH0
1.

Motile c{:}lony with variable number of cells arranged irregularly
B00GeTedOrT @008, ££2 DO IIATEIST 0T o) T340

Colony with unlirnited cells arranged in regular manner
2930065 EETeréd, |EaD ST e:00 GO8 DTVHI0

Colony with Iimited cells arranged regularly
4. % DO EeTredds, (K2 BarOrT €00 &0GE TR0



Question Number : 3 Question Id : 50131411396 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Isomorphic diplo-haplontic life cycle is the characteristic feature of
w W - =} i Wy x
Qa0 ET%) 55050 8 edd 26 5o AR AP ©E MO

Options :
Ectocarpus
".'?&‘-""-'ny:“.F

1. \:-'? :x_.-ﬁ\_} ,_u___f\:l
Pofysfﬂhqma
O RO

2. ®
COedogonium

APV

- BB RAO00
Chara

4, # R

Question Number : 4 Question Id : 50131411397 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Manandria are
ool &osr
Options :

Long male filaments
SPCha) a0 ed0ehyen

1. %
Long female filaments
5 3
> % §rCes) | EH0E26) N
dwarf male filaments
SPE} 20 edoehieyen
3.¢

dwarf female filaments

o &
4% P | dosdagen



Question Number : 5 Question Id : 50131411398 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Chlﬂro_phyll ‘e’ Is present in
FLENS ‘@ AAS &0ochHd

Options :
Chlorophyceae
T2

1.% ~ %
Xanthophyceae
e TR

2. ¢ =
Rhndu{phyceae
BE 2

3. %

Phaeophyceae

A TOVVATS)

Question Number : 6 Question Id : 50131411399 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Floridean starch is the reserve food in
[=" = k'*E\ o i,
FEBONS VoA HTPo IS’ Ded g es5°80

Options :

Polysiphonia

| IO DI

Ectocarpus

5 % NSEso Ry

Oedogonium
3 % &8RN0

Chara
4. % =5



Question Number : 7 Question Id : 50131411400 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

MNuclear endosperm is present in
Bo|65% 0050350 ARS' GOt
Options :

Annona
]
1 % 00 F°

NMagnolia

S O ol
2. ®

Cocos

Monochoria
4 % SESEOST

Question Number : 8 Question Id : 50131411401 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What is Nemec phenomenon?
T8 YA 2000 0T I3
Options :
Development of polien grain embryo sac from microspore mother cells

DT L2008 Des SredySere 0B T IBHodE o @dNyd Todto
1.4

Entry of pollen tube into ovule through microphyle
290 T £0:30 00 JTHTF0 20005 D8 |HBFoTHE

2. %
Entry of pollen tube into ovule through chalaza
3 % ers 040 AT NP0 @0t HR40 ToODLOo

Entry of pollen tube into ovule through funiculus
290CS 2990850 T 18 DTHTF0 @0 (DJF0 DAL
4, ®



Question Number : 9 Question Id : 50131411402 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In which type of ovule, the micropyle comes close to the base of funiculus?
=) %0 ©90¢06S @0¢:)0e50, @0 @500 SO Gotraw ?

Options :
Anatropus
1.¢
Othrotropus
Tl
5> % QO 58

Cam pylatropus
SP0 0 YRS 165°30R

Circinotropus
B e T
Sl RTE[APS

Question Number : 10 Question Id : 50131411403 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Monosporic, 8 nucleate embryo sac that develops from chalazal megaspore is seen in
Berad e D D20 D08 @S0 TN E NG, e9gBo(B¥ HodsHo

0.

Options :
Peperomia

| % DOy
Allitm

5 % DO AHOo
Oenothera
5, SET

3. %
Pa!yg_crnum
rONH0

4,

Question Number : 11 Question Id : 50131411404 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0

Which of the following is the DNA model of Watson and Cricks?
T3, 185 e BrsroBoDS DNA dsrar & (§od ¢35 6

Options :

Z - DNA

28 - GO

C — DNA

2 — GOLSD
2. ®

A - DNA

o) — (A0
3. %

B - DNA

AR ROV
4.+

Question Number : 12 Question Id : 50131411405 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which non genetic RNA is the major RNA present in the cell?
50008 &0 InB0 RNA & ) RNA [0 TP D808 SneoeS oenod

=
LT

Options :
M - RNA
A — @b ADS
1. %
t— RNA
5 % €3 - @D S
Sn RNA
AR @ - &b OdR
3. %
r— RNA
esD — &b b

4.+



Question Number : 13 Question Id : 50131411406 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Ran guanine exchange factor (GEF) are present in
TP TPERS S8 1505en BAS” 0Lron

Options :
Cytoplasm
g0 C3e380

1. % -
MNucleus
Fy 4

5 50180

Mitochondria
3 % DS so|balr

Chloroplast
FOTW
4. % N

Question Number : 14 Question Id : 50131411407 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What is Chargaff rule?
DT A0 2daNe3?

Options :

Mucleotides are formed by either DNA or RNA

DNA @z RNA & 5728 GirToch S8 ¢ean
1. %

MNucleotides are formed by both nucleic acids
DO ZO|O57Tred& TS TICH SO IO

Furines and pyramidines are present equally in DNA

. 2000, DB DdTd HOTHD0S” &OLTow
3.

DNA Is a double helix
DNA & 500 yer8d0



Question Number : 15 Question Id : 50131411408 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which statement is not correct regarding DNA and RNA polymerases?
DNA , RNA 57®08 220 DAaH0sS & (808 2 a7E:0 DDSO ¢

Options :

Both enzymes add nucelotides to the 3'-end of the each

DOCH DOBINET TN 3'- DS SFETrTotich 2266 T ow
1. ¥

Both enzymes require a primer

DO DJOZ e 50 |l e dt0o
2. ¢

DNA polymerase is used in replication while RNA polymerase is used in transcription
DNA &2 (D888 &a5r1008 RNA 02 edhBndods
S50 0d

The binding of RNA polymerase is preceded by the binding of transcription factor
RNA 270027 e0e00 s S008 e0ed®ged SH5e0 eo0t0E008 0N

4. ®

Question Number : 16 Question Id : 50131411409 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is not a correct statement regarding polytene chromosomes?
& O D) 75 0O rOES FIrEH0e DAHoS” B2 p?

Options :

Conspicuous banding is a special quality of polytene chromosomes
50001 ZDD0T HEdes O3S (SFRrEne (HEss

The bands on polytene chromosomes are DNA rich sections
FOSS IFIrES0e D He DNA HA00m &08 2rmren

There is a correlation between band number and chromosome number

v E3rES Hows S0 Hows LI H02050 God
3. i

No correlation between band number and total DNA content in the genome
25 Ty 70 DNA % Heder Homsdy st & Hoodio Teh
4, ®



Question Number : 17 Question Id : 50131411410 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which one is a heterocystous, nitrogen fixing, aerobic cyanobacterium?
TFOT DY, EOR, I SED IS D, Toinlies HOHS® 2rEOCH0 DA

Options :
ﬂ'f'cf;::rdesmium
BALE= A POWISY

1. % = ®

Oscillatoria
£ ST .
> % s OaN
Anabaena
¥, ﬁ\lﬂ
3 ¢ PR R
Phormidium

4. % ;?ﬂﬁ;fﬁcﬁbrﬁ

Question Number : 18 Question Id : 50131411411 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which cyanobacterial symbiont in Azolla makes it a good biofertilizer in rice cultivation?
2 HODSEPIOAD0 DFED 506 IFEF, SO0 0D B AT
S0 Cednd) &,

Options :

Oscillatoria
e BASE

Trichodermium

=B 1y
“ L?ﬁiﬁﬁéoﬁ@ﬂﬁju
2. o

Aulosira
=B
& T
3. % =

Anabaena



Question Number : 19 Question Id : 50131411412 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which type of plants initiate the Xerosere succession?
22T EaTR) « %0 Jn)en esodaron?

Options :
Mosses
\.{\WF -

1w AY D))

Squamulose lichens
) Sy 25 BEAY

2. %
Foliose lichens
3. %
Crustose lichens
M5 EREs
4.

Question Number : 20 Question Id : 50131411413 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a primary consumer?
&:1800 73S’ G E DATFHTEED DO

Options :
Carnivaore
- 5050
Herbiw;}re
280 0
2.
Omnivore
e3a0) 3D
3. %



Saprotroph
TS ETD

Question Number : 21 Question Id : 50131411414 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who intro_duced the progressive evolution on sporophyte in bryophytes?
TR DG Hazdh HOTHT VFBOT (M FO ST FTFAY, (58 DERE oS

Options:
Bower
D
1 EATR]
Kashyap
Eaaio
2. %
Church
‘e
3.6 O
Evans
D00,
4, ®

Question Number : 22 Question Id : 50131411415 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which plants constitute the Reed swamp stage of Hydrarch?
20 E08 B 10D GIS &OT JnEen A?

Fm
L+

Options:

Juncus, Polygonum
1 % BOER, FORD0

Typha, Sagittaria

, o B 2O

Nymphaea, Trape
RO TET, |ETor
3. %



Chara, Hydnlla
koLl (e ldy
4, ®

Question Number : 23 Question Id : 50131411416 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In which genus, Glycine is abs-:%nt in their cell wall peptide bridges?
%62 $5000 VB H0BIOS TS 0GB (DS DO
Options :

MNocordia

KEelovts
1.¢

Streptomyces

Frankia
larosair

NMonospora

ﬁ]“gﬁ"}w
4. % &

Question Number : 24 Question Id : 50131411417 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The wall-less prokaryote confined to the phloem of plants is known as
TwE e SFAE Le22e T8 SO T EeadScd BEred o8 I 328D
Options :

Actinomycete
esf T ed

Bacillus

AT

2. %

Virus
369



Mycoplasma

=1

Question Number : 25 Question Id : 50131411418 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

During which geclogical time cyanobactena originated?
DO er%@cfm D 277X OO @S INDOTTON

Options :
Cambrian
SolDche

1, % -
Devonian

Silurian
Rlvielon iy

Archean
es8; e

Question Number : 26 Question Id : 50131411419 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In which type of fossils plant anatomical details are more or less preserved?
R0 &0 00650 T°)6 DIT°EN TP oJ 0P o) 850 Jererdy’ D8 DD E0LFOW

Options :

Compressions
L0 Beam,)

Incrustation
ITRVRTDY

Impressions
SAV{AlSY
3. % )



Petrifactions

2O Sae
4.

Question Number : 27 Question Id : 50131411420 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Rostellum is a special structure present in the family
OO e (DSB8 DT°I0 S FoL020S &GoLnod.

Options :

Euphorbiaceae

SSHEF0,)5HR
1. %

Orchidaceae
) es8) G

Capparidaceae
0G0

Asteraceae
50

Question Number : 28 Question Id : 50131411421 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What is the basic unit of inflorescence in poaceae?
TS HAIDTEOD (TFHNE (HITSD DE

Options :

Simple raceme
. &5 =
fPED Do

1. %
Cyme
5 % DD
Head
2856

3. %



Question Number : 29 Question Id : 50131411422 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
When Bateson and Punnet made a test cross between F1 individual of sweet pea having

blue flowers and long pollen with plants having red flowers and round pollen, they obtained
7:1:1:7. Instead of 1: 1: 1: 1. What does the results indicate?

F1 65065 $9038 N B0K) 3760, PSS 3990 HORS &2 2778 ZE,00 G e,
1006863 A &) F0FOE D)™, HTYEW HOFTN0EBR0 Ddayd 1:1:1:1

AA)BE DN T 1 1:1:7 AAB ID0A. & DO TAR AT 0N
Options :
Linkage

o DT

Independent assortment
2 % NSB0(S sFEaTV0

Crossing aover

TOa0ed
3. %

Epistasis
L ow ODFTRD

Question Number : 30 Question Id : 50131411423 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a phytoplasma disease?
& 1800 73S DA T A DO

Options :

Angular leaf spot of cotton
&3 SeH0% esfosud) e

Citrus canker
R]éo;r‘i@"'



Little leaf of Brinjal
2001 Ded esBo Siloexn

Gummaosis

a0 rom

Question Number : 31 Question Id : 50131411424 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Peptridoglycans are present in the cell walls of
3 863 ESTOS DYTASTS O,

Options :
Eukarya
1 % e VhuusilaToviy

Bacterna
2. ¥ )

Archaea

esH o
3. % =

Mycoplasma

Question Number : 32 Question Id : 50131411425 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Rhodospinllum is a
BE D00 2.8
Options :

Chemoheterotroph
Sarodda Do) fado

Parasite
TP 2530



Symbiont
fareda)

FPhotoheterotroph
s0ed £)ad) Mo
4,

Question Number : 33 Question Id : 50131411426 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who crystalized TMV for the first time?
3000 A EDard f(};@%éénﬁoﬁ-&“}& = Pyl

Options :

W_NI_. Stanley

¢h. 8. o OH R
1.¢

Bawden and Pirie
2FEN, O

2. %
Twort
Adolf Meyer
0O ) 00D
4, ® -

Question Number : 34 Question Id : 50131411427 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which type of sexual reproduction is present in zygomycotina?
B TSI S 2 B8RS Bond (Hehogeded 23thried
Options:

Gametangial contact
DO Derasrer D36,

Somatogamy
F2a% HOTIFN0
2. ®



Gametangial copulation

DO Derdasre Hod3FENo
3.

Spermatization
DDz Hodsrtio
4, ®

Question Number : 35 Question Id : 50131411428 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who first recogn_ized fungi as a separate kingdom?
FD0ITOR |HBLE T2:0TT B eS8 HB0DS TS

Options:
Whittaker
1. ¢ DE)ED

Ainsworth
800340

%
g
—-

2. %

Linnasus
) o
3. %

Alexopoulus
B IO

Question Number : 36 Question Id : 50131411429 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Why archaea resist Lysozyme and penicillin?
2AVOT, BIFBI0ON 807,05 JOCHE ATOT AN

Options :

Absence of Muramic acid

v SNFTE 23600 B0
1.

Absence of proteins

1556320 BdohHe
2. %



Absence of phospholipids
2 10D BOONSD

Absence of glycoproteins
1593 B0

Question Number : 37 Question Id : 50131411430 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of events in bacteriophage replication
SO 1585’ 207 083690 DD SN 1ESTR) 00T,

Options:

Entry, Adsorption, Nucleic acid synthesis, capsid synthesis Lysis and assembly
95590, B3, BoG5eD D033, |9¢8S ST D036, IDIG)0 aF TeNYO

aird
1. %

Adsorption, Enfry, Nucleic acid capsid synthesis, synthesis, Assembly, Lysis
0T, (D330, To(G5eD DOBAED, (3 Sk D02, 3725 Bewye) edasrd,

> ALARTVTe

Adsorption, Lysis, Entry, Nucleic acid synthesis, capsid synthesis, Assembly
0556, DD 0, 19350, Bodsd DoBe, (863 Schib DN, rE Benye
Saird

Adsorption, Entry, Nucleic acid synthesis, capsid synthesis, Lysis, Assembly
o3, P30, Bo(GFED $03369, 18e3S S Ho3Ne, DD N80
S DENJE $ASTH

Question Number : 38 Question Id : 50131411431 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What is the correct sequence of Xerach?

23072 e | Fe0F) 0T 1Fe0 0O

Options:
1. ®



Pioneer stage, Foliose lichen state, Herbaceous stage, shrub climox forest
HTHAD ¢4, JTPBTS ¢, Me¢sE, de> ¢34, T8 ) eadeaso

Pioneer (crustose lichen) stage, Foliose lichen stage, Moss stage, Herbaceous

stage, Shrub stage, climox forest

HTHAD (ETD BTN GF), DB BT ¢4, 370 ¢34, e ¢, e &4, 33085

@050
2.

Foliose lichen stage, crustose li

o
o

chen stage, Herbaceous stage, Climax forest

FTL DT OF, (B0 ST O, Moexdsd, 33078 eadeago

Crustose lichen stage, Foliose lichen

Question Number : 39 Question Id
Correct Marks : 1 Wrong Marks : 0

stage, Moss stage, Shrub stage, Climax forest

B0 T3 (G, AETP BT 4, a0 59, e (33, 2o ) eodeaso

: 50131411432 Question Type : MCQ Option Shuffling : Yes

Which of the following is a saprophytic food chain?
1BoETE3S SFJrRTHTS 935S Feur O

Options :

Oceanic food chain
e C) 82T e

1. %
Pond food chain
5 % TO &5 Fend
Terrestrial food chain
250 @33 e
3. % ;
Detritus food chain
G300 @50 Fena
4.

Question Number : 40 Question Id
Correct Marks : 1 Wrong Marks : 0

: 50131411433 Question Type : MCQ Option Shuffling : Yes



Reduced scale like leaves and modified into spines are the adaptations shown by
D0APEI0 0 SeNNET &OT esfoen Anger Srroddo TOGEF) B AraErow

Options :
Hydrophytes
Qe3 IwEzen
1. %
Xerophytes
L0 SwEien
2.9
Mesophytes
Adadd® ()23eN
3. %
Halophytes
500D SnEyen
4. % )
PART B
Section Id : 501314197
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 60
Number of Questions to be attempted : 60
Section Marks : 60
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 501314230
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 50131411434 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which spore stage is considered as sexual stage in rust fungi?
E00%0: Sihen IDorereS & F%0 S35 Bohs GBI 2rDarS

Options :
1. %



Uredospore
CS00 ERF )5

Teleutospore

EATDAAT VS
2. ¢

Basidiospore
ey AT

Pycniospore

Question Number : 42 Question Id : 50131411435 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

How many spore types appear in a marcocyclic rust life cycle?
e 29805 5005055 228 0| BN HFEOS AQETO 150N DO

Options:
2

Question Number : 43 Question Id : 50131411436 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What is the terg‘ninator codon in mt DNA?
065520 E0HES DNA & 20080 FEd 26

Options :
UGA

- 80230



AGA

- -
oJ)230)

2. ¢

AUA

3 % SO

UAA
4. 8 O30

Question Number : 44 Question Id : 50131411437 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which plasmid is used in genetic modification of crop plants?
HD0L) InEe 23055770158 &IFR0T TVIE THTE0 O

Options:

pBR — 322

1 % e)esd — 322

F — plasmid
o) — R
2. ® x 5 &

Ri — plasmid
esD 2 -2l 6

Ti — plasmid

Y — a6
4 ¢330 — ;&

Question Number : 45 Question Id : 50131411438 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which family has the floral formula — Br Brl % ‘3\ KEIC1+2+2Amm + 1G17?
o) 508002 oY )OS @& — BrBrl % & K5 Ci+2+2A@ + 1G1?

Options :

Asteraceae
esBo



Annonaceae

] &
EDe rond)

Ruta%eae
3 % OFEw

Fabaceae

5
s TBO

Question Number : 46 Question Id : 50131411439 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The gynoecium is bicarpellary and syncarpous in the family
& 50002065 B £NOGY, HoosE DOIFohued 0cssH SN SO

Options :
Fabaceae
AT

1. %

Caesalpinaceas

T IF R
2. %
Asteraceae
. é‘é

Mimosaceae

- &
4 % VST

Question Number : 47 Question Id : 50131411440 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In which of the following genus heterostyly is present?
B DTS 2 1927 BS” DS 8ered &0k
Options:
Helianthus
1 % SFOBFOED

2.



Primila
leyadger

Solanum
SPETed0
®

Tridax

= B~
4 % L;;_JCE“\_:I_J

Question Number : 48 Question Id : 50131411441 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Cheiropterophily type pollination is assisted by
SONT 2O 850 HTH HDONGL0 AR DICHOS 2B

Options :
air
.6 T
insects
deysren
2.
Bais
K eren
3.¢
Birds
2508
4, ®

Question Number : 49 Question Id : 50131411442 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Eukaryctic genes differ with prokaryotic genes in having
D3R EOR &0cseI0 H0 ARTOE B Beddzen 30|58 JF78 s BIo adrIHos
DBET .
Options :
Exons

- il
Ny
L ] .-Jr\.},-‘}

1. %



Promoters
|a33°L) &0

Introns
QO LT

TATA BOX

4% ey e3E

Question Number : 50 Question Id : 50131411443 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which following statement is wrong with regard to genetic code?
&21800 D E55m 2a30) DOBes0 DAADOS” S

Options:
enetic code is overlapping

v 220308 HOTSO eoedaTeod0
1. ) )

It is a triplet code
233008 O30 (380

2, ®
(Genetic code 15 degenerate
- 2.8 D0Tedo (350 ™ S0LNod
It is commaless
4% S S0 Fordd) J0GE TR0 OB

Question Number : 51 Question Id : 50131411444 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What is the ratio of complementary gene interaction?
DOTOE BeEY® DBDIG G2 5T VA D3
Options :

1.% 12:3:1



2. %
3 % 154
4 Q-7

Question Number : 52 Question Id : 50131411445 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

When homozygous red and white flowered Antirhinum plants are crossed, the F1 plants
produced pink flowers. What is the genetic basis of this phenomenon?
Sl o o

202, BeNaY G0M sYar )% Raboin)2r B e0e3Dda FwEe Dt N05B0 BRI,
F168065 Herd) B0 e ST)00. F0CHE 208 8538 Byf 2000 63

Options :

Complete dominance
0T 23arGeded t0

1. %
Epistasis
AT
2. % I
Incomplete dominance
2000 e ticheh 00
3.¥ QGBS
Fleotrophy
2TV [s02T8ed
4, ®

Question Number : 53 Question Id : 50131411446 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In which famn\{ the stamens are obdiplostemonous’?
2 H0eno20eS BTITPeN ‘2,285 AT PITIN' T oLTow

Options:
Futaceae

GVIA
1.¢



Fabaceae
AT

Cucu rbi@ag::eae
50508, T

Asteraceae

4% e B

Question Number : 54 Question Id : 50131411447 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What type of inflorescence is present in Euphorbia’?
0O I0H0S” &OT HAIDTED0 DRE3

Options :
Catkin
1. ® 5265 8

Cyathium
w, _I,_\_f.\l
5 @ Sleviiale]s!
Capitulum
e
x5S
Spike
4% g08

Question Number : 55 Question Id : 50131411448 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

During which stage of meosis syngetic knot is seen?
g aDEOE DM o SIS 0235 Adk e oa?

Options:

Zyqgotene

BRedS
1. % =



Pachytene
ar8e3S

Leptotene
BSereds
3.¢

Diplotene

Question Number : 56 Question Id : 50131411449 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Mitosis enables
edRBRS AR 0 T
Options :

Unequal distribution of chromosomes
EFrSHnen esdSTRomT Hodes

1. %
To maintain constant chromosome number
2 =]
1§ 0 0B AN WSO GOTOHE
2.
To reduce the chromosome number
. IE R0 D0 esfoTochEy
3. B
To prevent polypoidy
22sTon e 1B RBrEhne 9 ABH0ToHEH
4, %

Question Number : 57 Question Id : 50131411450 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What does the chromosome formula 2n— 1 -1 mean ?
B3 AP0 2n — 1 — 1 0% ed0 Da0e3?
Options :

Monosomic
AN AN



Dismoic

GErE
2.% 7

MNullisomic
AESFINT
3. % :

Double monosomic
Gen® IrSFEoLS
4.

Question Number : 58 Question Id : 50131411451 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who rediscovered the Mendel's law of inheritance in 19007
1900 0565 15065 0SS 03055038 SF e SO SITHB?

Options :

Hugo de Ve, Carl Korrens, Eric Van Tschermak
| @ SRR, 5P FBS) 68 35 TO S

Sinnot and Durham
265165 B &5 FSH

Bower and Sutton

L x 290 00 HYS

Chales Darwin, Hago de Vries, Carl Korrens
ZOR @85S Sursh BN, 5°0 §08)
4 % o Tt

Question Number : 59 Question Id : 50131411452 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What hormones regulated phototropic and geotropic movements in plants?
S80S 29309869, 25° @905363805 BEOED o) TF0 0N DADO(ESBITON?

Options:

Gibberllins

201883 e
1. ® -



Auxins
LRI
2.

Ethylene
26dS

Abscissic acid
EARTVRE T IWe
4, ®

Question Number : 60 Question Id : 50131411453 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

ChloroE}Ghyll ‘a’ in higher plan}_ﬂs differs from bapteriochlmmphyll in having.
S04 S GoE TTNS Y erI0TrETIS & AV DR G060 HOS AN,

Options:

Forphyrin with one pyrrole ring
2.8 DIFS S00HOS &S FOIBS

Forphyrin mﬂ.lith two pyrrole rings
D0h DIBS SOAiTFens) 0108

Porphyrin wﬁth three pyrrole rings
207CH DTS HOCiren) FBI0S

Paorphyrin with four pyrrole rings

e DTS SOaiTrensd) 0108

Question Number : 61 Question Id : 50131411454 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Integrated proteins and glycoprotein present in plasma membrane are

Options:
Hydrophilic

| x B9 (20



Hydrophobic

20 OO
2, ®
Amphipathic
&30 OS5
3.¢
Amphibolic

Question Number : 62 Question Id : 50131411455 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a flavomolybdo protein?
& 1808 T8S FSIrOY) 5535 DA
Options:
Nitrate reductase

31%0e0 BesEes
1.

Dinitrogenase

B3 E8BTE
2. ®

Mitrite reductase
- SITo6S BesEeS

Amino transferase
4, ® - K

Question Number : 63 Question Id : 50131411456 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The primary COz acceptor in Ca cycle is
C3500006 |SFG0E CO2 P58
Options :

RUBF
1 & D o D



Oxatoacetate

L x STSRBS

Phosphoglyceric acid
e 008 esa0
4, ®

Question Number : 64 Question Id : 50131411457 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Fﬂrmatiep of Acetyl CoA takes place in
DO § J0Za A AQS B ce0d.

Options:
Cytoplasm
69\ C95:065"
1. % -
Inner layer of mitochondria
D' zohasr SHO S
2. %
Mitochondrial matrix
3 v DETOSNT SM@BES
Plasma membrane
o nr 6 ETH0
4, ® )

Question Number : 65 Question Id : 50131411458 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What are the components of water potential?
Qe3 F525) eoddsneIzTen O ?

Options :

Osmotic potential, wall pressure
W, é w
1S dden 350, Sochicdado



Pressure potential, Turgor pressure
DB F50, TTed DEBS0

Osmotic potential, g?ressure potential, Matric potential
3 ¢ B8 4520, cheS 4530, 5@ NS0

Turgosr pressure, wall pressure
D)6 D830, BocsNCES0

Question Number : 66 Question Id : 50131411459 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Shoot induction is influenced by
|995°0C D50 TR VA (D2TrH0 TroA.
Options :

Low concentrations of cytokinins
B 807 2 Thed

1. %
High concentrations of cytokinins
A BN T rched

2. v
High concentration of auxins
esf) Trcdo )y rrehed

3. %
Low concentrations of IBA
IBA €550).00 MPCied

4, ®

Question Number : 67 Question Id : 50131411460 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which microelement is needed to transport nutrients from leaves to meristems?
SEATeN @800 DO Dere; §ea2rers TOOMH @adRN TS JAre50 20?2

Options:
Boron
1.4 AR



Copper

ry—

S-DGJ'-._;
Zinc
2308
3. %
Molebdynum

4. ® &'@@{}D

Question Number : 68 Question Id : 50131411461 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Each photosynthetic unit, ‘Quantasome’ consists of
199e3 8962 230521 8ASF |DSATEI0 "B LFRY DE3R A &0LN0A.

Options :
Lipids only
DY Areh
1. % )
Lipids and proteins only
L x O, (SR S
Chlorophyll only
TODO S b
3.% 7 }
Chlorophvll, lipids, proteins and carotenoids
v TS, O, |Fe3D, sTSTon&)
4,

Question Number : 69 Question Id : 50131411462 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Aliving tissue with long cells with thicker walls is known as
SDOGFS BOE, TGS BeTenad) D8 Smere0

Options :

Chlorenchyma

| w 70 S0ere0



Parenchyma
aDHCH SEa2r0

Collenchyma
AFeT §2700
3.v

Prosenchyma
A0 Eeere0

Question Number : 70 Question Id : 50131411463 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Indian rubber is manufactured from the latex of
AR BHLB) Mod 20&AHS S S0ird Tt

Options:

Havea braziliensis

- TS BEDADHD IR

Ficus elastica

L v 2ED weryT

Hevea benthamiana
SFACSE BOTHOSTR®

Hevea camporum

. SEDAST OSSO
4,

Question Number : 71 Question Id : 50131411464 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Cork cambium is a typical example of
A DO DeraasdeTaPs Hod) Gt

Options :

Secondary meristem

B 5BaD Derasieaereo
1.¢



Apical meristem
5 % OO0 JeTFB5EIO0

Plate meristem
DOF Dzre3eazre0

3. %
Primary meristem
olPGeS mEFa ST e0
4, % = B

Question Number : 72 Question Id : 50131411465 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who proposed the histogen theory?
0o 238 ATP0TR), (SO0 NE Jat ?

Options:
Schmidt

| % 28
Nageli

, 5 1O
Mewman

3 % COF5D
Hanstein
0 O

4. N

Question Number : 73 Question Id : 50131411466 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Anomocytic stomata are present in
AITFRET HigddoTren A GoeTow

Options :
Lamiaceae

eFDNEITR
1. ¥



Fubiaceae

-q D

5 % SN ATONEN
h-1a|va%eae

3 % TOF
Capparidaceae
0GR

4. v

Question Number : 74 Question Id : 50131411467 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Nectar secreting trichomes are seen in
EBOG0 1DDOT T e AAS' Edaaciesron

Options:
Rumex
Araars

1.2

Rosa
=
O

2. ®
Hibiscus

3 @ AL

Tamarix
¢7005 )

4, ®

Question Number : 75 Question Id : 50131411468 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

During secondary growth, vascular cambium is derived from
Q3B3ArDNYE 20T TPT 222 5EETP AR DO 0D,

Options :

Medulla
eyt

1. %



Fericycle

HBEO
2. ¢

Cortex
3. % OO0

Endodermis
e0edd )00

Question Number : 76 Question Id : 50131411469 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The dicot wood which has vessels in the Xylem is known as
TE TOOS 08 8565 Dered B BET H8ITOTE

Options :
Soft wood
1% DRV TH
MNon porous wood
5 % 0 &0 TE)
Porous wood
o TEY,
3.¢
Compression wood
5080y TE)
4, ®

Question Number : 77 Question Id : 50131411470 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What is the major source of plant raw material used for printing paper production in India?
270 B0 NS0 dreh 88 &ITPA0T (TR S0 S 2 B0 &30 2

Options:

Bamboo

s
1 nTneN



Boswellia
~ 3OS

Question Number : 78 Question Id : 50131411471 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is considered as a natural system of classification?

Options :

Bentham and Hooker
DO, s rED

1.4
de Candolle
& go8S
2. ®
Engler and Prantl
200D, |Zrotye
3. % -
Hutchinson
FPI0R
4, ®

Question Number : 79 Question Id : 50131411472 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In which plant pollination occurs by ‘Lever mechanism’?
‘B0 ASro|e380’ @ jT° DT 00000 207 JwE) 2O ?

Options :
Helianthus
rASFOER

1. %



Tyfo;:ahma
fALS :35@“

Salvia

Cafotm,m’s
4 g o '?J .f']

Question Number : 80 Question Id : 50131411473 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In which family ovary is supenor, bilocular but four lobed?
2 H0en0230S O£ % &l ¢ IO TPeNMH S00E GoLNod ?
Options :

Amaranthacea

e TOD
1. %

Lamiaceae
5 ¢ ©00h

Euph::rrbiac%a
B8 3E30R

Caesalpinaceae

DardIT

Question Number : 81 Question Id : 50131411474 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who pmposed apoplast and symplast concept?
@Y, 0IG 2P0 (el A0DAEA oD

Options :
J.C. Bose

1 % E.?\j. é"a.f:p'

Ernst Munch
5 o 90) @ SWOD



Ei: Stgwa_rt
2.0, e

%tephen Hales
AR o)

Question Number : 82 Question Id : 50131411475 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What is the main function of photosystem | complex?
PSI |DEPAS0 D6 aned ?
Options :
Electron transport from plastocyanin to Ferydoxin

. Tar8 eSS 0 DOETEIS B DOITA ST
1.

Electron transport form ferydoxin to plantocyanin
288 S d00d TEE IS Ho JOIFS S

2, ®
Reduction of plastoquinone

- Tar8 2edes a0 § OD5Be0 Tah o
Electron transport from pheophytin to plastoquinone
DOIT DT D0 PSP £S5 B0 DO TR BT

4, ®

Question Number : 83 Question Id : 50131411476 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Incipient heterospory is seen in
235025 DS PPN AAS’ EADOH

Options :

NMarsifea
2320 YOS

Equisetum

5 &8 1200



L ycopodium

SESGOLo
3.%

Selaginella

ers oer
4.

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks
for this question if any of the correct options are chosen.

Question Number : 84 Question Id : 50131411477 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which species of Gnetmp Is present in Andaman and Nicobar islands?
200CHTR, AFZFD AIS A3 2 el F[wd) SO ?
Options :

G. Montanum

£ — o o E
. e PO

1. %
G. Ula
5 % 2. e
. Latifolium
Q. ere3sED oo
3. %
. Ghemon
4. %

Question Number : 85 Question Id : 50131411478 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which type of stele is present in Marsilea?
356 )OS &0T (HHBER0Z0 DA ?

Options :

Actinolstele
O (BES D008 Qo2so

b

1. %



Plectostele
e (DdEe Voo

2. ®

Sclenqgteie
3¢ FO S RO

Mixed protostele

20| 2eb | DG | Dd8en Qoso
4, %

Question Number : 86 Question Id : 50131411479 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following genus exhibit both xerophytic and hydrophytic characters?
& (808 2 (DerBS’ A0 &) o, A3 I © 8003 ©F eTren EdaciEron?

Options :
Equisetum
& e
1« &5 Mw;ﬁlﬁ)
[ ycopodium
S Gabho
2. ®
Marsilea

3 & 00)Oasr

Rhynia
DA
4. %

Question Number : 87 Question Id : 50131411480 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Angiosperm phylogeny group, APG — Il (2003) classification recognises in all
FA)OT IO SOV SOEGE, APG — 11 (2003) w0 2SS BIB0DSEA

Options:
462 families arranged in 40 orders

1 % 40 LE:}?@G 462 S0L002FeN



470 families placed in 45 orders
45 |857°65 470 Sotnoeren
2. ¥

450 famijj&es in 40 orders
40 |50 450 Sotnoaren

3. %
400 famiﬂées under 40 orders
40 |53 400 Sotno2ren

4, ®

Question Number : 88 Question Id : 50131411481 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The specimen used by the author is the nomenclatural type is called
Sriowed g Beas GOErNONM PAadm A W VTR

Options :

Lectotype
[BERALY
1. %

Neotype

Holotype

L v SUSTD

Isotype
NG
4, ®

Question Number : 89 Question Id : 50131411482 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The rhizoids in Marchantia are

ST0), 0NASTES SSure) eh0oesiayen

Options:
1. %



Smooth, multicellular
AR A, RaTuEdedineren

Tuberculate multicellular
2AF& DO erodd Fded aTusnainesen

2. ®
Unicellular and smooth
A R, F Eeacueren
3. %
Unicellular, smooth and Tuberculate
J DEEeTined, LA, 20T e erodd fcten Hed
4,

Question Number : 90 Question Id : 50131411483 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Fseudo elators are present in
29:9)6h B ADS” &0tk
Options :
Anthoceros
306 T
1.¢ R
Riccia
@Efﬁjf_ﬁj“

fdanchantia
0"}, Oa G5

Polytrichum
4 % O IO

Question Number : 91 Question Id : 50131411484 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who studied the epidemioclogy of wheat rusts in North India?
&5 2r8ed THOS MDD H0050:0 BHEN 7752 D) e9¢5:0080 T BHE



Options :
V.. Chenulu
1 % a).a). TIeade)

K.C. Mehta
TR, araree
2.9

P. Ramachar
), TP i3

3. %
Y L. Nene
30000
4, ®

Question Number : 92 Question Id : 50131411485 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Parmelia is a
00 05F eV 2.8
Options:

Crustose lichen

1. %
Fruiticose lichen
L;;*;‘“féﬂﬁsa? &30
2. %
Squamulose lichen
7. £50eS2E BB
3. %
Foliose lichen
FOTrS BES
4. =

Question Number : 93 Question Id : 50131411486 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In Cercospora, conidia develop on
DI L0 S FRAST A D BMIEON



Options :

Acervulus

. S fOR
1.

)]

ynnema

o,

o) o)°

atv

Stroma

3.0 &S

Sp{}rodgchium
F B EaaHo
4, ®

Question Number : 94 Question Id : 50131411487 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In Albugo, the diploid zygote 1s known as
ese)eS’ &5 50aE Hocsnd Hard) @er DEVTE

Options :

Oospare

enernb
1.

Zygospore

Ascospore
3 % @S0

Basidiospore

4 % BRATTFD

Question Number : 95 Question Id : 50131411488 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Heritable change induced in the base sequence of a DNA molecule is referred as

S o 4 - e
29ENIAN [WBN0B0 I8 TR (B2 FTO D) H0FarE005 J3)ed e
0T,



Options :

Mutant
caed 050650

Mutagen
cred 80050

Mutagenesis
cre5 182000 _Sf_t-,q_ﬁCflJ

Mutation

€53 189000
4. B

Question Number : 96 Question Id : 50131411489 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In which type of mutations Thymine Dimers are formed?
D B0 &b 10 SBTrOS TN ¢5505FeN DO o ?

Options :
X - Rays
_8X ey
| % X -SO£T7e0)
vy — Rays
v — 88eTren
2. ®
UV — Rays
3 v UV 8SeTen)
p — Rays
= g'ﬂ af
4 % p— S0gTen

Question Number : 97 Question Id : 50131411490 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Whaat Is the fruiting body in Penicillium 7?
2AVODIN0S’ HOT 0N DO ?



Options :
Cleistothecium
Sivdarowe)

1.4
Pernthecium
B S0
2. %

Py;cnidium
Apothecium
DFEVOHO

4, %

Question Number : 98 Question Id : 50131411491 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Budding is the mode of reproduction in
AAS (DB T 7 585 |Dehnged1ed 2350700
Options :

Penicillium
1. % DSROSHO

Albugo
ese)ff

Saccharomyces

o, =
S EVESINATA TN

3.v

NMucor

M ..':FD5
AT 5

4. %

Question Number : 99 Question Id : 50131411492 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which species of Chara is endemic to India?
2rded TDFRT DOEB D JOBE 0 2ed DA ?

Options :



Chara balfica

SO 2P

Chara nuda
7 o ST T

Chara S:tem'gem
3 & SO QUECT

Chara wallichi
So° m@ﬂ@;

Question Number : 100 Question Id : 50131411493 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Uegetatives reproduction in Chara occurs by
o0r &5 FS03res ) ed D3 e 2300

Options :
Globule
NS

1. %

Nucule
AP BT
2. ®

Amylum stars
3 ¢ @O0 ST (TFEeN

Zoospores

1553068 DDaren
4. %





